T2 EERRBGLRAER BIERER

“REFRRBREORIEREK (1 REMED A FHHE)

(BA{3L : ppm)

AR TH2%F THIE = = (B
5E'IE 4 5 6 7 8 9 10 11 12 1 2 3 |[1EFfE{E| R FHiE
XEL5/E | 0001 | 0001 | 0000 0000 0001| 0001 | 0001| 0001| 0001| 0001| 0000| 0000| 0009 | 0002
#ZNIF| 0005| 0006 | 0005| 0004 | 0006| 0005| 0004| 0004| 0004 0003| 0003 | 0001| 0021 | 0010
BEEF| 0006 | 0007 | 0006 | 0005| 0007 0005| 0005| 0005| 0004| 0003| 0004| 0002| 0022| 0013
O/ | 0004 | 0005| 0004 | 0003 0005| 0003| 0003| 0003| 0002 0002| 0003| 0001| 0022| 0010
{5ERE| 0004 | 0005| 0004 | 0004 | 0004| 0004| 0004 0003| 0003| 0003| 0004 0002| 0021 | 0011
ZHEF| 0005| 0006 0005| 0004 0006| 0004| 0004| 0003| 0003| 0003| 0004| 0002| 0020| 0010
GE) XHFRFZEAERETRT .
“BMLHiE (SO : FHIE)
(BREBEBERR)
Rl mla = 1BSRAMEA0.1ppm | B TI9BA0.04pom | g pyers B T 49{8%0.04ppm %  BBLEORMN
Amnmle o FTOEEBALBMME |BAARE B s BAI-Bh2ELLE S 1= &5 B R B
ZDEE TDEE EHRLE-CEDFE 0.04ppmZEHBAT-BH
%”2 =] =3 ppm =] % =] % ppm F:x, &O H
XELER | 314 | 8025 | 0.001 0 0.0 0 0.0 0.002 O 0
BIE| 351 | 8488 | 0.004 0 0.0 0 0.0 0.008 @) 0
BEERB| 365 | 8715 | 0.005 0 0.0 0 0.0 0.010 O 0
BO/B| 365 | 8724 | 0.003 0 0.0 0 0.0 0.007 @) 0
BB/ | 365 | 8718 | 0.004 0 0.0 0 0.0 0.009 @) 0
ZHEF| 363 | 8685 | 0.004 0 0.0 0 0.0 0.008 O 0

GE)

XENER

REBAERETRY




—BMLER, “RMEERBEHEHRR (1 RFHREDH FEHE)

(B3I : ppm)

a Al 5E oS24 SMIE x = (B
%E 4 5 6 7 8 9 10 11 12 1 2 3 |[1BERE{E| B FEiE
X5 | NO | 0000 | 0.000 | 0000 | 0.000 | 0.000 | 0000 | 0.000 | 0000 [ 0.000 | 0.001 | 0000 | 0.000 | 0013 | 0.003
NO:| 0004 | 0003 | 0003 | 0003 | 0003 | 0003 | 0004 | 0.005 | 0005 | 0.005 | 0004 | 0.004 | 0031 | 0013

2B | No | 0000 | 0000 [ 0001 | 0001 [ 0001 | 0001 | 0000 | 0001 | 0.000 | 0000 | 0.000 | 0000 | 0.023 | 0.002

NO:| 0.003 | 0003 | 0003 | 0003 | 0003 | 0003 | 0003 | 0004 | 0004 | 0004 | 0003 | 0003 | 0.027 | 0010

#MEB | NO| 0000 | 0000 | 0000 | 0000 | 0001 | 0000 | 0000 | 0.000 | 0.000 | 0000 | 0.000 | 0000 | 0.081 | 0.016

NO:| 0.004 | 0000 | 0003 | 0002 | 0003 | 0003 | 0003 | 0.004 | 0004 | 0.004 | 0003 | 0.003 | 0025 | 0012

OB | NO | 0000 | 0000 | 0000 | 0001 | 0000 | 0000 | 0000 | 0001 | 0.000 | 0000 | 0.000 | 0000 | 0.024 | 0.003

NO:| 0.003 | 0000 | 0002 | 0002 | 0002 | 0001 | 0002 | 0.004 | 0003 | 0.002 | 0002 | 0.003 | 0021 | 0.009

525 | NO| 0000 | 0000 | 0.000 | 0000 | 0.000 - 0.000 | 0000 | 0.001 | 0001 | 0.001 | 0000 | 0.011 | 0003

NO:| 0.003 | 0000 | 0002 | 0002 | 0002 - 0002 | 0003 | 0.004 | 0004 | 0.003 | 0003 | 0.021 | 0009

#mEBE| NO | 0000 | 0000 [ 0000 | 0000 [ 0000 | 0.000 | 0000 | 0000 | 0.000 | 0,000 | 0.000 | 0000 | 0.013 | 0.003

NO:| 0002 | 0000 | 0002 | 0002 | 0002 | 0002 | 0002 | 0.003 | 0003 | 0.002 | 0002 | 0002 | 0019 | 0.008

GE)  XHEFREBUERERT.

GE)

BERBDIAIZONTIE, HHRDBEIZKIYRAILZEHTINS,




—RILER. “RICERKVCERRIY (FRIE)
(AVUERVBIEERL L)

; —E1EZE % (NO) ZFIEZEH (NO2) E5RER1EY (NO+NO2)
AIF(W[&E[i[a|®F[W[&[1] 1% | ;0 | 88 | a0 [ |[=@[A[# |#][1][a] %
B | . o | = - %:2 W %%ﬁz 2 2 b 1%0@6 2 . 5| &
| BT || B F || & S| e | ok, | Elwea || T | E|®
- ; el 1) J & & . .04 D i | # el 1))
A L i o | 22 2 ppm & 0.06% ppm . = |Fr| o o | & | Nnos
B A ppm % | pgm £ moSa| ® P
= S ié] HEEI B B:'rf ﬁj EEEI b 1) % () ) H % E:'rf ﬁ] EEEI A
= = 98 | g e 020 2 0.06 98 |g| g 9g |NotNo:
B | % B & | eppm 2 5 | ep#l | % |gm B | %
R | M| e || E & || E|E - T =& T | fE |mxl % | @@ @] E
P B |B%ME | ppm | pom | ppm| B | BERE | ppm | pom | B % |BEREI| % | B | % | B | % [ppm| B | B |ERE| pom | ppm | ppm | %

sl 314 |8,024(0.000 [0.013 [0.001 | 314 [8,024]0004 [0031| 0 [ 00 | o (00 | 0o |00 | o |00 [0008| o | 314 |8024(0.004 (0041|0010 914

&) 365 |8,675/0.001 |0.023 [0.002 | 365 (8,675(0.003 |0.027| 0 0.0 0 0.0 0 0.0 0 0.0 (0.006| O 365 |8,675(0.004 (0.034 |0.007 | 85.3

A | 364 |8,666(0.000 |0.081 [0.001 | 364 |8,666]0.003 |0.025| 0 0.0 0 0.0 0 0.0 0 0.0 (0.007| O 364 |8,666(0.004 (0.103 |0.009 | 91.4

BrO /5| 365 |8,722(0.000 (0.024 (0.002 | 365 [8,722(0.002 |0.021| O 0.0 0 0.0 0 0.0 0 0.0 (0.007| O 365 |8,722(0.003 (0.033 |0.008 | 85.9

1EER]| 311 |7.412(0.000 |0.011 [0.001 | 311 [7,412]|0.003 |0.021| O 0.0 0 0.0 0 0.0 0 0.0 (0.006| O 311 |7,412]0.003 (0.023 |0.008 | 87.4

% HEE]| 365 |8,673(0.000 [0.013 [0.000 | 365 |8,673|0.002 (0.019| O 0.0 0 0.0 0 0.0 0 0.0 (0.005| O 365 |8,673(0.002 (0.023 |0.006 | 97.7

GE) XHMXRFEAERETRY



REALFRYERERERER (1KRED A EHE)

(BfSE:mg/m)

A%l SN2 &£ SHSE = = [E
%‘E 4 5 6 7 8 9 10 11 12 1 2 3 |1E5RE| B FHE

XEAE | 0.011 0.011 0.016 | 0.016 0.023 0.012 0.008 | 0.010 | 0.010 | 0.010 | 0.011 0.015 | 0.099 | 0.061

&Z)E | 0015 | 0019 | 0.028 | 0.026 0.035 0.021 0.012 0.011 0.009 | 0.010 | 0.011 0015 | 0.160 | 0.083

B&MEB | 0013 | 0017 | 0026 | 0.024 0.034 0.018 0.012 | 0010 | 0.009 | 0.009 | 0.010 | 0015 | 0.139 | 0.072

O | 0014 | 0016 | 0.023 | 0.020 0.026 0.016 0.011 0.009 | 0.008 | 0.009 | 0.011 0015 | 0.172 | 0.063

1EEB/ | 0014 | 0017 | 0025 | 0.025 0.032 0.018 0.011 0.009 | 0.009 | 0.010 | 0.011 0.014 | 0.220 | 0.099

#%HEB| 0013 | 0016 | 0023 | 0022 | 0036 | 0020 | 0011 | 0011 | 0009 | 0.009 | 0.011 | 0015 | 0.163 | 0.085
GE) XMFRFHEAERERT .

FERLFRWE (S PM : ££/HfE)
(R—BIRPUT )

B3l 5 | %= 1RSI {E HY0.20mg/m | B FEH{EO0.10mg/m BEHIED =] z|Z1’31I_§0.1\0mg/r’r'|s’é _ REREEDORIAM .

Rcnmla  ElevomlEEicmmss (E@irERE s | EATEM2ELE I 5 B T fEAS

S5 ; Z0EE Z0EE EFLIEIEDHE 0.10mg/ Mz B =B H
R B | B | e | BRI | % B | % me/m B x, ®O B
XEEB 312 8,004 | 0.013 0 0.0 0 0.0 0.035 @) 0
A 351 8,483 0.018 0 0.0 0 0.0 0.050 @) 0
AR 353 8,449 0.016 0 0.0 0 0.0 0.046 @) 0
HOB 365 8,722 0.015 0 0.0 0 0.0 0.036 @) 0
EER 365 8,719 0.016 2 0.0 0 0.0 0.050 @) 0
Z2HB 363 8,685 0.016 0 0.0 0 0.0 0.044 @) 0

GE) XHMXRFEAERETRY



